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£)  De la hoja de datos:  Tjmix = 425°C
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Vr = 0,80 v
Rejr. = szq’o °C/wW (por ticistor)

RGCS = Of‘{ OC/W (PO( mofdala)

"

T T4 T3 Tje Tjs T
<P>l Rejc=0,2%0 °C/w
Cpar t:riﬁhf)
Tea,4 Tese Tes,2
2<P>l Rocs = 0,4 °C/W
(ror wmédulo)
A
AR T ek -¥
6<P>l Resa=0,3°C/w

Tamk R R s TR RN --
o = —O

JP\ — (VT + ¢ Iﬂpmiﬂal) Inominal

(F) = Tf; = -_;1-((0,30v)+(2,40 mn)(*;-gfg))(%fg) = Mw

mix = Tamb + {P) (stf- +2Recs +6 Resa) + LP) (2 Zojc (32,56 ms) - 3 Zojc (25,89ms) + 3 Zejc ("2-56““))

A
z st

Lt

De |3 hoja de datos : 3KP> =
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